










⑥ Datos

MNaotl - 12g
✓ = 250 mL = 0125L

a) NaOH =?
Mm/Naotl/= 23+16+1=40 g/mal

12g Na OH 1 mol =

b) M =?
M: mollsoluto)

40g
013 mal Na OH

✓ disolución (L)

013
0125

12 mol/L

7 Datos
m=2g
V-100cm³-100mL = 011L

1131 atm
02=273 K

Mm =?

> V-n RT
1131004=10%82.273

01131 = 22 '39 n
n = 01131 -

n M
22139

10058 Mol

Mm

Mm: M = 2
n

'aos, → Mm = 341,839/mal

8
Datos

, 970 mmHg. 760 mmHg
25°C = 298K

Te =?
P2 = 760 mmHg

l

1 atm 1128 atm

atm =/atm
• 760 mmHg

Ley Gay-Lussac (recte)

P2
2

T2-PE

T2-1.298
l

1128
[= 233148K

9
Datos

P?
gas ideal → PERT
n = 01532
✓ = 4390mL = 4139L
F- 183' 93K

PV-ART
P- ART - 01532.01082. 183193

4139V

7=1183 atm

10 Datos
V,-215L
-112 atm

1- 25°C +273 = 298K
T2 = 23°C = 296K
72=3'00-10-3 atm

½ =?

El gas es el mismo dentro

del globo → n, = ha = n

P, V, = n RT

n = P, V 1.2.215 = 0'/2m01

RT

Para = nRI
V2: n Rta

'082.298

Pa

V2 = 0112: 01082.296 ⇒
3.00. 10-3

✓ 2=9701881


